


H = 0 &8 AFS H A A
2022 20l AF LB HA D
M A
XM GLEEH
e GtE |22 (el &2
- - - bS]
2AH -3 ..SA(ZAH) - HIRAIS - BHAES Ofl AFoH om'&% Hunsz2
A& 35,722,735 16,205,449 19,517,286
= 1,240,000
z 4,800,000
[= 3,255,000
= 26,427,735
St A HI 5,744,000 3,088,000 2,656,000
[= 482,000
= 5,262,000
5t& X2 1,932,000 1,076,000 856,000
[= 482,000
= 1,450,000
Xgtst® SIzel(8X) 964,000 560,000 404,000
[= 482,000
= 482,000
401 Al HI L2 HY 964,000 560,000 404,000
[= 482,000
= 482,000
01 Al&HI 964,000 560,000 404,000
O THGH Ol 2 AL (= BIHIQF)
400,000,000 * 14l 400,000
[= 200,000
= 200,000
OX ZL5tE HHIAY 300,000,000 * 1Al 300,000
[= 150,000
= 150,000
OHGHCHEl KIetata ot H Ul A
160,000, 0002 * 14! 160,000
[= 80,000
= 80,000
OMMNHEAI (RE=AS) 104,000,000« 14! 104,000
[= 52,000
= 52,000
StEoI HA 68,000 81,000 213,000
201 L2 A H| 18,000 31,000 213,000
01 AL 22/ H| 18,000 28,000 210,000
Ot 2| HHIAX2 10,000, 000 14! 10,000
OSHMRIRAZY S22 5,000,000 14! 5,000
O3 A L MARE 3,000,000 * 14! 3,000
401 Al HI LY 50,000 50,000 0
01 Al&H| 50,000 50,000 0
OGtE 2I2AdHZE ALY 50,000, 0002 1Al 50,000
XestE K22l 900,000 435,000 465,000
401 AlEH| LY 900,000 435,000 465,000
01 Al&HI 900,000 435,000 465,000
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SN AL
3 G EFY
S9l: otE R CERT)
= = e &E
SN B CR(BH) - MRAY - BES Ol &t o S dImEET
OOt SHHEAIE 2 x| &X
5,000,00024 %14} 5,000
OJISH FHI(FSHH) 20,000,008 =4 A 80,000
OBt HES ALY 20,000, 000! *57H £ 100,000
OBt ERKI2El At 50,000, 00024 * 144 50,000
OLUA staRXlnel 200,000, 00024 * 144 200,000
OLUA G2 &X A 200,000,008 * 14! 200,000
OHF=X 2l 5  50,000,0002 * 14 50,000
O HUE ASEHALSTYI S
15,000,000 * 14! 15,000
oHRE ELBA 200,000,0002 * 14! 200,000
A5HE Y| 3,812,000 2,012,000 1,800,000
AGHE BIROHZ 212,000 212,000 0
201 2Er2 2| 10,000 10,000 0
01 At 2lt] 10,000 10,000 0
OAGHEIYl Ul YK 10,000,000 14! 10,000
401 Al 2HIL 2 0H | 202,000 202,000 0
01 Al 200,000 200,000 0
OAGHE BIRGHZ AL 200,000,00024 *14! 200,000
03 Al& 2 CHH| 2,000 2,000 0
OASHE DIRGHZ LHEI 2,000,008 * 14 2,000
HOHE AGHEFHIA (HE) (HEAY) 1,200,000 600,000 600,000
401 Al2HIL 2 0H | 1,200,000 600,000 600,000
01 Al&H 1,200,000 600,000 600,000
OZOHA AGHEZHIAY  1,200,000,0002 « 14! 1,200,000
OI2X AGHE FUIA(HE)(HEAIY) 2,400,000 1,200,000 1,200,000
401 Al 2HIL 2 0H ] 2,400,000 1,200,000 1,200,000
01 Al 2,400,000 1,200,000 1,200,000
OO0I2Z ASHEFUIAIY  2,400,000,0002 14! 2,400,000
SHE XI4CH 25t 4,000,000 1,050,000 2,950,000
= 2,400,000
= 1,600,000
& TH oH 2 X 4,000,000 1,050,000 2,950,000
= 2,400,000
= 1,600,000
NSt E T (SR MO0/ THE A BRI (R A} 4,000,000 1,050,000 2,950,000
)
= 2,400,000
2 1,600,000
401 AlEHI L 2| 4,000,000 1,050,000 2,950,000
= 2,400,000
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SA

Mo SiE XISU 2
Shol: GHETHOH X (el @)
- _ - &E
SN ZH - S(S) - MRAY - BAS Ol &t o S dImEET
= 1,600,000
01 Al bl 4,000,000 1,050,000 2,950,000
OYLLUH (NSKT) XLo&HTHIAL
4,000,000, 0003 » 14! 4,000,000
< 2,400,000
2 1,600,000
nEd &3 22,216,511 10,007,694 12,208,817
s 4,800,000
2 17,416,511
=2 BN 229,931 86,931 143,000
DEY TA 4,848 4,848 0
101 Q1218 4,848 4,848 0
04 JI2tHZ22EE+ 4,848 4,848 0
OLSTEA LAIAAQI=Y
80,8003 20 3 4,848
CRUH QI 28,800 41,800 A13,000
201 LBr2 | 25,000 25,000 0
01 A2 2| 25,000 25,000 0
Os8Jl==2 100,000& 10 1,000
OEZ20AHE =&+=+2 6,000,000& 14l 6,000
OTEHDEER 28 S22
18,000, 00024 #14! 18,000
202 01t 3,800 3,800 0
01 24018 3,800 3,800 0
o=z 2t A& 20,000 *4Q1%353] 2,800
O="T4 QIRIGHZ &2l 20,000 2021 %253 1,000
=2tEy 22 16,283 16,283 0
101 Q1218 16,283 16,283 0
VBIEDEEP TP 16,283 16,283 0
OSZEXEA LAIAS QIR
130,264 521 %25 16,283
XEA OIEAIE 2el 180,000 24,000 156,000
201 L EH2 & 10,000 4,000 6,000
01 A2 2| 10,000 4,000 6,000
ONHHER HERX AX2
0,000, 00024 #14! 10,000
401 A& HI YL 20| 170,000 20,000 150,000
01 AI&HI 170,000 20,000 150,000
ONENE=E KA 2l 20,000, 000& *14] 20,000
OXEN ABEZ(SE2 S) HHAL
50,000,002 *14} 150,000
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2M AL
M DEY HE
@2 2& FHl A (A =&
SN B S() - MBAY - BAS 01l &k o e HlDS2
=& Ul At 11,024,342 1,415,076 9,609,266
= 4,800,000
= 6,224,342
?E RAES 2,825,076 915,076 1,910,000
201 Lt g| 70,000 80,000 210,000
01 At 22|l 32,000 64,000 A32,000
Oz 2138+ &Y =4l 2,000,000 *14 2,000
OL=23dl EHlgxt= 30,000, 000& * 14 30,000
02 222934l 38,000 16,000 22,000
O Z=& Xt SA&2ldl 9,333,300 *3CH 28,000
OusERX 22 ¥ ==52=
10,000,000 *14] 10,000
206 =l 30,000 30,000 0
01 HZ 1l 30,000 30,000 0
O SN 2] 30,000,000& *14] 30,000
401 Al EBI YL 2CHYI 2,725,076 805,076 1,920,000
01 Al &l 2,720,000 800,000 1,920,000
OUECHHAIEESEX & 722l
10,000,000 *14] 10,000
Ot U BHRE TARY
1,000, 000& »150km 150,000
OotAE TN Y =2 FHY|
200,000, 0003 »14] 200,000
O ZHXZ HUIAISA 20,000, 0003 »14] 20,000
ORIJMNA: E2RXNE> 70,000, 0003 *14] 70,000
OREEZZ Jt=Ed Y &X 50,000, 0003 »14] 50,000
OlEENEMN(HECZR)
10,000,000 «202! K| 200,000
ony RANE=+ 20,000, 0003 »14] 20,000
oxLzd¥ M=&d 15,000, 000& 23] 30,000
OBs+9 RAE=+ 25,000, 000& *2JH 2~ 50,000
ONBEAEA (Y|, HUKHNEH JUNMA
o LA E sEI 150,000,000 * 14 150,000
OANEY WY S SFAETAY
1,500,000, 0003 *14] 1,500,000
OZE6S (LX) MIEEXIAIY EHESA
60,000, 0003 »14] 60,000
o= 1a(&ddel, d2l) o XA &
Y 40,000, 000 * 14! 40,000
O=2= (232, stgel) FEE2 HEAE
100,000,000 * 14! 100,000
o2& 105 H (E=2l) ZUIZA
50,000, 0003 »14] 50,000
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S AL D
M DEQY =
=@ =& FHl A (el &
M L5
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
OzE2s 4 (Hel72) d8ME dAEH S
20,000,000& 14| 20,000
03 Al& =0 5,076 5,076 0
oz RXNEs AIE20UHI
1,410,000,000& *0.36% 5,076
HEXFI BN EX A (245 (e ~IrE2) 204 3,399,266 500,000 2,899,266
A ) (HEAre)
401 Al HIZL 20l 3,399,266 500,000 2,899,266
01 Al&HI 3,399,266 500,000 2,899,266
OZZ4s (e~ S 2HE A A&
3,399,266,000% * 14 3,399,266
4 H2EZ SEMY(EY SS-02ER2/7H 4,800,000 0 4,800,000
2%)
[ 4,800,000
401 Al HIZL 20l 4,800,000 0 4,800,000
s 4,800,000
01 Al&Hl 4,795,200 0 4,795,200
O Zbhadd S~ =2 AZISA
4,795,200,000 * 14 4,795,200
= 4,795,200
03 Al& 2T 4,800 0 4,800
O Zbhadd S~ =2 AZISA
4,800,000,000& *0. 10% 4,800
s 4,800
SHEEZZ ZHIAIY 8,264,960 1,503,960 6,761,000
SHEEZ SZFALY 1,573,960 1,503,960 70,000
401 Al HIZ SO 1,573,960 1,503,960 70,000
01 AlEHI 1,570,000 1,500,000 70,000
OARE (el 2=FH)C2 HUALY
300,000,000 *14] 300,000
OLL1025 (R0t~ HW)IE EXIALY
300,000,000& * 14! 300,000
OZE1I01S (452 )8dHRICZ S XHAY
100,000,000 14 100,000
O=4el U2 EX ALY
250,000,000& * 14 250,000
O=RE7a5d(SX2) BEEXZ EXMY AL
HESA 30,000,000 14! 30,000
OYB225 (EH2) sHEZZ FHIALY
70,000,000& 14| 70,000
OBL2015(Z0el) SHEEZ S22 &
BIAH 50,000,0003 14} 50,000
OE==2d 2T EXAMY
20,000,000 14! 20,000
0882028 =2 X HS A 150,000,000 * 14! 150,000
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S A
Hu: DS =5
©el SOEZZ ZHIAY (ool ™
% = &
SN B CR(BH) - MRAY - BES 0l et S HRE2
OLA2015 T2 EIZ AL 300,000,000 14! 300,000
03 Al€ 208l 3,960 3,960 0
OsSOUHEZZ AlE 20l
1,100,000, 000& *0. 36% 3,960
SEM4SH EHESEN 4R 2,500,000 0 2,500,000
401 A& HI YL 20| 2,500,000 0 2,500,000
01 Al&HI 2,500,000 0 2,500,000
O=&4s ECEE |1 AXAY
2,500,000, 000 * 14! 2,500,000
28 2035 H (Eel72) sHETZR SEFAY 700,000 0 700,000
401 A& HI YL 20HHI 700,000 0 700,000
01 Al&HI 700,000 0 700,000
ogel72t T2IHEA 700,000, 000& 14 700,000
LA WN~HAEY B EH MAXS3 A 3,491,000 3,491,000
401 Al HI L2 0HHI 1,200,000 1,200,000
01 Al&HI 1,200,000 1,200,000
OYY1025 (YLM-UIE WHABIR) MLXS
3 2t S2FHHIZAE 1,200,000, 0002 14 1,200,000
403 XIS SAHE01H 2,291,000 0 2,291,000
02 SIS0 U2 H 2 S AL Y| 2,291,000 0 2,291,000
OYLI025 (YL D-AF WAHIE) MUANES
3 ALY 2E3 2,291,000, 000 * 14! 2,291,000
A2 QIRGHZ 2,697,278 2,835,219 A 137,941
FR=RANZ ALY 935,960 1,025,611 A89,651
201 et gy| 4,000 19,000 A 15,000
01 At 22|l 4,000 15,000 A 11,000
OEERNAMER 4,000,000 *14] 4,000
401 Al HI L2 0HHI 931,960 1,006,611 AT4,651
01 A&l 926,000 1,003,000 A77,000
Os2el(225-2) th==2 HEIZ A
20,000, 0002 =14 20,000
OA=2l(456) Ottt ZTEHIA
10,000, 000& » 14! 10,000
OXZ&2l(189-2) Ot HUISA
15,000, 000& » 14! 15,000
OAMFe2|(156) Ottt ZE DA
40,000, 000& =14 40,000
©@2121(118) =2 &XISAl
15,000, 000& » 14! 15,000
O3t 2l(376-5) 0=t HHISAL
12,000,000& * 14! 12,000
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S A
NI DNEY BHE
@ A2 QIR (el &3
% = &
SN B CR(BH) - MRAY - BES 0l et S HRE2
O©HOtel(365-1) th==2 AXIZ At
5,000,000 =14 5,000
OgY=2l(31-2) == HEIZA
7,000,000& 14! 7,000
ou=zal(80) =2 AXIZAl
12,000,000& 14 12,000
O==2l(544) DtS+2 MHEZEZAt
20,000, 0002 =14 20,000
O&ESel(227-5) == &EXI3At
20,000,000 14! 20,000
O3Hel(335) F& AXIA
20,000, 0002 =14 20,000
O2M2|(394-5) Ot20ot2 EZAIA
30,000,000 14! 30,000
OANE2I(194) =2 HBISA
20,000,000 14! 20,000
OMERI(AH05) 2& NEZAF
20,000, 000& =14 20,000
OZ&al(190-1) th==2 HHIZ At
20,000,000 14! 20,000
Oss2l(521) =2 AXISAF
40,000,000 14! 40,000
O=32l(537-3) #H EHHISA
40,000, 000& =14 40,000
O&2XE2|(350-1) Ot20et2d FHIZ At
20,000, 000 * 14 20,000
ONTR(DLE) DRPLE HFIBA
20,000,000 14! 20,000
Odot&=el(319) A SYEAXISA
30,000, 0002 =14 30,000
O©JIAt2el(102-2) =2 AXISAt
20,000,000 14! 20,000
O&wel(353-1) =2 IS A
20,000,000 14! 20,000
Ouixliel(275-1) th==2 HEIZ At
20,000, 000& 14 20,000
OZXlel(158) ti=2 HUI3A
15,000, 000& » 14! 15,000
OZ=2/(293-2) =2 ZEHIAM
30,000,000 14! 30,000
Os23el(482) =2 AXIZSAt
20,000, 0002 =14 20,000
Oot&aFel(579) Ottt SILE T A
20,000, 000 * 14 20,000
ogoial(215) =2 ZEIA
20,000,000 14! 20,000
O=cl(13) =& ZHISAt 20,000, 000& =14 20,000
O=cl(49) s ZEHSAM 35,000, 000 =14 35,000
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S A
M DEQY =
Rl A2 2R (&= &3)
o - PSEE
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
©QlFel(626-2) Ot EHHISA
20,000,000 14| 20,000
Og0iel(306-3) =+=2 FHISA
20,000,000& * 14| 20,000
OF2l(18-1) =2 ZHISAt
20,000,000 14| 20,000
O EHC(250-3) S22 ZHSA
20,000,000 14| 20,000
Os2el(572) s+2 EXSA
20,000,000& =14 20,000
og=el(121) =2 FHISA
10,000, 0003 14| 10,000
OE=2l(454) DtStd EZESA
15,000,0003 14 15,000
O83502l(195-9) Otsetd ZHIA
25,000,000& =14 25,000
OZH&el(100) =2 &XISAt
15,000, 0003 14| 15,000
O 22| (61-13) R+2AZ FHISAM
20,000,000& * 14| 20,000
EHel(16-6) === Jelole ZEXIZAt
15,000,000 141 15,000
OA1Wel(231) DtSetd EESA
15,000, 0003 14| 15,000
OAwel(57) =2 ZXI3At
10,000,000 14 10,000
Oot=el(206) 0tS2t2 o1 I3A
15,000,000 14 15,000
©35t=2l(93-2) =2 HHISA
15,000, 0003 14| 15,000
O&1el(9%) nrSet ZEHIA
15,000,000 14 15,000
03 Al& =0 5,960 3,611 2,349
OFo =32 A L0
946,000,000& +0.63/100 5,960
A2 JIBHAIE SHE ALY 1,761,318 1,349,608 411,710
401 Al HIZ SO 1,761,318 1,349,608 411,710
01 AlEHI 1,755,000 1,345,000 410,000
OAA2 MU DISEXNEY
200,000,000& = 14 200,000
OATZAIE 2857 & ZHIAY
200,000,000& * 14 200,000
ORNAFYTEH (AFS BBAIL) HABY
100,000,000 = 14 100,000
OFME RRY HEAR HTITBA
300,000,000& * 14 300,000
O=Scl(258-2) DtSetd SHEIZ AL « 14
20,000,000 = 14| 120,000
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SA
X XH .
(== I

EEE

24D}
nSY ==
LTS QIR

- _ - PSLE|
SA-F3H - SA(ZA) - HRAY - BES Off &F o4 I@EOEH Hws2
OUEI(372) 52 ZHSA
20,000,000 * 14l 20,000
O&EeI(M29Y) =2 FHISAM
100,000,000& * 14! 100,000
O=02l(4t31-2) Ot EHHIZ AL
50,000,000 = 14 50,000
O=2[(409-2) =2 FHHISA
50,000,000& = 14 50,000
O&HE2[(292-10) ME FHIZA
50,000,000& * 14! 50,000
OYSEH L0l === HHISAt
60,000,000& * 14l 60,000
O&=2l(573-2) =2 ZE A
10,000,000& * 14! 10,000
OE™el(147) ME HHISA
50,000,000& * 14! 50,000
OSz2l(372) SZEHESA
100,000,000& * 14! 100,000
OZel(100-2) Jt=ald X2 At
15,000,000& * 14! 15,000
OZ 2l (At77) OIS0 ZEIAL
50,000,000& * 14! 50,000
OZI=LHel(215) === HHIZ At
50,000,000 * 14l 50,000
O2H0tS~H0H3e 222 HESA
100,000,000& * 14! 100,000
OXZ0Hel(285-5) &I A 30,000,000 * 14! 30,000
Oot&Tcl OISt =2 SAt
30,000,000 * 14l 30,000
Oo0tssl 2~ sZ2ME At
40,000,000 = 14! 40,000
O¢E4e *H S 2HEHA
30,000,000& * 14! 30,000
03 A& =0 6,318 4,608 1,710
OATE JIBHAIE SHEAIY R0
1,755,000,000& * 0.36% 6,318
sgolet2st 3,627,712 1,920,369 1,707,343
= 1,240,000
< 373,000
s 2,014,712
SYMAD|B A5 3,627,712 1,920,369 1,707,343
= 1,240,000
< 373,000
s 2,014,712
=olAlE RX2el 50,000 30,000 20,000
201 ZBt24H] 50,000 30,000 20,000
01 At2te|H] 30,000 20,000 10,000
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A AL
33 sgJ|eds
ol SQIMAD|BE D& (Eto): &2
P = N
SA-BY.SASH) - RN - B ol &t S HIDE
=l AIE ZHIR X 19,200,000 141 19,200
@_J'K_al}\lld x/\—| XlHlOIxI.
600,000 ~3CH~6& 10,800
02 3323 20,000 10,000 10,000
O=xclANEE323Hl 20,000,0002 * 141 20,000
AN ==elAld HE= 372,016 264,347 107,669
401 Al HIZL 20l 372,016 264,347 107,669
01 Al€Hdl 370,000 260,000 110,000
HREE HHSA AAEAHES
20,000,000 * 14 20,000
FclAE 2es7 & UIAY
100,000,000 = 14| 100,000
Od2ZNEXN+ Sti+=2 JUISA
100,000,000 14 100,000
OsIIEAIE M= & = MAH
20,000,000& = 14| 20,000
O3 LACI(450) 2 44 =2LXISA
50,000,000 = 14| 50,000
ONd&E4E FHEms2 EXSA
20,000,000 * 14 20,000
O==02I(119-3) th+=2 XIS At
30,000,000& = 14| 30,000
O°ot=2cl(580-1) s==2 FHISA
30,000,000 14! 30,000
03 AIZ 20 bl 2,016 4,347 A2,331
OAlZ #=C2IAle HHE+ FUbI
320,000,000& * 0.63% 2,016
ATE SHIIE HAAY 879,696 852,022 27,674
401 Al HIZ SO 879,696 852,022 27,674
01 Al&HI 874,000 847,000 27,000
OF=2I(50) s2 ZESA
10,000,000 *14 10,000
OZFel(188-1) s+2 EXSA
20,000,000& 14| 20,000
OF&L(54) s+=2 EXSA
25,000,000 14| 25,000
OZ=eI(39) s2 ZESA
12,000,0003 14 12,000
O3t2el(834) =2 EHIBA 7,000,000 =14 7,000
O3tel(421-1) s=2 FHISA
25,000,000 14| 25,000
©2i0t2l(244) s+=2 FHISA
10,000,000 =14 10,000
©10t2l(197) s+=2 &XISAt
10,000, 0003 14| 10,000
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2M AL
M =go|et2 st
ol SQIMAD|BE D& (crol: 2
2 . e
A F5 . a9 (3) - ARAY - Ba S 01l &t o S mEET
b |

O AL (264) S22 HHI=A
10,000, 00021 * 14!

OUD2I(2142) 542 XIS A
25,000, 0002 14}
Ab 10,000, 0003 * 1 A!
S H| 3 Al
20,000,000 x14]
O"g=R2(153) s& Z&ESA

0Z2l(99-2) =2
OX BRI (292-20)

_T'_

=)
S
(=]

&
=2

0,

O=2/(854-3)=s+2=MH ¥ ==

20,

=35tel(259-1) 88 &L =2 EX3AM
0,

O Hel(83-2) th+2 HXIBAH
20,000,00021 % 14!

oY=zl (81-1) =2 LXISA
10,000, 0002 *14!
2 HAXISBAH
20,000, 0008 *14!
(51)52 ZEHBA 10,000,008 14!
) =

OME2I(143) B+

30,000,000& * 14!
E3tel(138) OtAE HM LI S At
20,000,000 * 14!
O<3stel(44-1) B2 XIS A
30,000,000& * 14!
O&22l(413-15) =2 ZXISAt
30,000,000& * 14!
O2A2I(30-3) sZHE SA
40,000,000 * 14!
ON&H2I(336-1) == EXISA
30,000,000& * 14!
ON&dE2(ItES) HMEn B3 At
30,000,000 * 14!

Og=Xx2(131) s2 ZHISA

15,000, 000& * 14

20,000,000& * 14!

OVUTRI(323) tHaZ HHITA
20,000,000 * 14!

20,000,000& * 14!

20,000,000 * 14!
O=el(157) s+=2 FHISA

15,000, 0002 * 14!
OE0Hel(569-3) =2 HXIBA

20,000,000 * 14!

10,000

25,000
10,000

20,000

30,000

20,000

20,000

20,000

10,000

20,000
10,000

30,000

20,000

30,000

30,000

40,000

30,000

30,000

15,000

20,000

20,000

20,000

20,000

15,000

20,000
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2 ALY
HE: =20|pY st
Sl SN IR EERE
- _ - &
SA - SRA(SAH) - HRAY - HES Ol &4 I@EOEH Hlus2
05 Hol(368) 542 HUIZA
20,000,000 * 141 20,000
OAE2|(153-1) S22 XIBA
20,000,000 %14} 20,000
0L 02l (248) SE B TA
20,000,000 * 141 20,000
OYSH2I(199-1) OFAREHBA
15,000,000 *14] 15,000
OZ2l(147) =2 THBA 15,000,000 14! 15,000
O4=2|(684-4) B2 EHBAF
15,000,000 * 14! 15,000
OA=2I(609) 542 HEIBA
15,000,000 * 14! 15,000
OxS2(912) S22 THBA
25,000,000 %14} 25,000
OAHEI(430) 52 HHIBA
15,000,000 * 14! 15,000
O222I(9%-2) FYE SXIBA
15,000,000 * 14! 15,000
O3I82I(294) B2 FHIBA
20,000,000 %14} 20,000
O (44) 7H 2 LXIBAF
25,000,000 %141 25,000
03 Al& S CHH| 5,696 5,022 674
OARR S|P HOIAY 20|
904,000,000 +0.63/100 5,696
oI THBHRIE MK HHIAIY 2,076,000 524,000 1,552,000
= 1,240,000
= 248,000
2 588,000
401 AlZ8IL 20| 2,076,000 524,000 1,552,000
= 1,240,000
= 248,000
2 588,000
01 Al 2,068,526 520,698 1,547,828
O WHSIE HEX HH| At
2,068,526,0002 * 14! 2,068,526
= 1,236,263
= 247,253
2 585,010
03 Al& S CHH| 7,474 3,302 4,172
OMHSIE KX HUIA 2Ol
2,076,000,0002 * 0.36% 7,474
= 3,737
= 747
2 2,990
SoM A B HH| 250,000 0 250,000
= 125,000
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SA: AL
BE: 501|825
ool SeMAdlY 1 ECRE
= = e &E
SH - GA(BH) - NBAY - BHES 0l &k S HmZ2
= 125,000
401 Al HI L 20| 250,000 0 250,000
< 125,000
= 125,000
01 Al&HI 250,000 0 250,000
OB H2I(496-3) 542 SXIBAl
40,000,000 14! 40,000
< 20,000
= 20,000
OF2I(LH42-1) 52 THTA
20,000,000 14! 20,000
< 10,000
= 10,000
OFE2l(209) 52 TSN
50,000, 000& *14] 50,000
< 25,000
s 25,000
OBt Tal(M41) 52 EHTA
40,000, 000& *14] 40,000
< 20,000
s 20,000
OgHel(210-2) =2 ZESA
40,000, 000& *14] 40,000
< 20,000
s 20,000
oZ=eal(42-1) =2 &SX3A
20,000, 000& *14] 20,000
< 10,000
s 10,000
OAD2I(185) SYMAIIPAIL FH]
40,000,000 14! 40,000
< 20,000
= 20,000
HY2AAL (AL 134,512 139,386 A4,874
ol (H4Dt) 84,878 89,152 N4, 274
ol (AL D) 84,878 89,152 N4, 274
101 214 H| 84,878 89,152 N4, 274
01 2= 78,056 78,056 0
O=UIRY 10,841 x 1521 %480 Al 2+ 78,056
03 BRA(RIAHA)22NES 6,822 11,096 N4,274
0ZRE+A UL
18,9503 «3Q1+120Al 2¢ 6,822
Jl2Zdl(H&m) 49,634 50,234 A600
Jl2Zd (A4 49,634 50,234 A 600
201 L EH2 & 28,734 29,334 A 600
01 At 2teltl 28,734 29,334 A 600
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oF
[
oF
ol

W~
RYAE]

-

KIo

gl w

H3r
ikEd
k=S

17,300
17,300

3,600
3,600

Off &F o4

15,870

6,144

6,720

17,300
17,300
17,300
3,600
3,600
3,600

CERAGH) - MRAY - BES

.gi_H

2A

15,870, 00021 * 14!
6, 144,000 * 14!
6,720,000 * 14!

o

0
o

i
R
ol

202 04l

01 =ZLHO Bl

Jl= 0l

17,300, 000& * 14

OH

3,600, 000& = 14!

KJ
Kk
oF
)l
&0
0B
z
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